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TRJGONOMETERY 2 ASSIGNMENT # 4

Prove the following identities.

tan 8 cos 8
cos x = sin x cot x

	

2.
sin 0

3. secO -cosO=sinOtan O

	

4. secA-cosA=sinAtanA

(sinr+cosr)2 =l+2sinrcosr

		

6.
cosO- sing=l - tan 0

cos 0



7. sec28-sin28=cos28 + tan28

	

8.
cotx-i =--cotx

anx-

9 1-cosA

	

sin A

sinA

	

1+cosA
10. (1-cost a csc a = sin a

an 8 cos 8 = sin 8

	

12. sin 8 cot 8= cos 8

13. csc8(]+ sin.8)=l+csc8

	

14. cos8(sec9-1)=1-cos8



15. sin0tan 8+sec8 = sin' 8+I
16. 1+sin8 = csc9+I

1--sin8 csc8-1cos o

I

	

17. sin
0 +tan0 = tan

g
cos 9+1

18. sin' 8 cot' 8 =1-sin' 8

19. sin' 8 = tan' 8
l+tan'8
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